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U o oboodon

0oo 00O Ooo oOo0Oo | ooo  ooo | ooo 0oo Oooo | ooo | ooo | ooo
0.0 000 000 000 golg 18,000 000 000 000 | golg

20.000 0. 0.00 0.0 4.000 34.1 17.05 68.2
NO.1 0. +12.000 0.0

20.000 0.00 0.0 8.000 0.00 0.0
NO.2 0. NO.10 0.0

20.000 0.00 0.0 7.500 0.00 0.0
NO.3 0. +7.500 0.0

20.000 0.00 0.0 12.500 0.00 0.0
NO.4 0. NO.11 0.0

20.000 0.00 0.0 20.000 0.00 0.0
NO.5 0. NO.12 0.0

5.000 0.00 0.0 5.000 0.00 0.0
+5.000 0. +5.000 0.0

15.000 0.00 0.0 7.000 0.00 0.0
NO.6 0. +12.000 0.0

2.700 0.00 0.0 8.000 15.70 125.6
+2.700 0. NO.13 31.4

0.000 0.00 0.0
00 0.
0.7 28.800 o 0.00 0.0
+11.500 0.000 17.80 0.0
00 35.

8.500 35.60 302.6
NO.8 35.

20..000 34.85 697.0
NO.9 34.

8.000 34.10 272.8
+8.000 34 HEEU 60000 1,466.2
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0000 oooo )| 000 O 000 (00| 0000 | 0000
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00000As(13) )
. - t=4cm U 1,585
gdooogooooo 2
- - ()0 00 Ot=den | U 730
000000M-30) |
S t=10cm 0 2,329
0 O 00000000(RC-40) | 5
SRR t=12cm U 1,951
o 0o 0o 0000000 0 1
00000As(13) )
oo t=4cm O 49
alals 0DooooooM3od | 2 o

t=10cm
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goood

00 O OBP(NO.0+0.0) 0 EP(NO.8+5.46) 0 L=165.46m

w= 550 m L= 93.80 m
w= 6.00 m L= 47.50 m
w= 5.75 m L= 44.16 m

00O O 0ONO.0+2.500 EP(NO.5+1.64)[1 L=99.14m
w= 3.75 m L= 99.14 m

00 0O ONO0.0+2.50 EP(NO.4+18.03) ] L=95.53m
w= 3.75 m L= 95.53 m




ooooogod

ninfnfinln 0O00oO00O0O0O0oooon OO0 000
OO0 0 (00 000As(13) t=4cm)
OOA | w1 w2 W L A
- - 5.50 93.80 | 515.900
- - 6.00 47.50 | 285.000
- - 5.75  44.16 | 253.920
O W=(wl+w2)x 1/2
O A=Wx L
0000000
Al = = 199.000
A2 = = 330.700
00 1584.520 0% 1,584.5
(0000000000020 0000 t=4cmd
OO0B | wl w2 W L A
- - 3.75 99.14 | 371.775
OO0F [ wl w2 W L A
- - 3.75 95.53 | 358.238
O W=(wl+tw2)x 1/2
O A=Wx L
00 730.013 0% 730.0




ooooogod

00000 Dooo0oooooooon OO0 o000
00000 (000000 (W-30) t=10cm)
OO0A | wl w2 W L A
- - 5.50 93.80 | 515.900
- - 6.05 47.50 | 287.375
. . 5.80 44.16 | 256.128
OO0B [ wl w2 W L A
- - 3.80 99.14 | 376.732
OO0F [ wl w2 W L A
- - 3.80 95.53 | 363.014
O W=(wl+w2)x 1/2
0 A=Wx L
0o00oo0ooQg
Al = = 199.000
A2 = = 330.700
oo 2328.849 0% 2,328.8




ooooogod

googod goooooooooooo god oo
googg (0 0 00000000(RC-40) t=12cm)
OOA [ wl w2 W L A
- - 5.50 93.80 515.900
- - 6.10 47.50 289.750
- - 5.85 44.16 258.336
Dooo0oo0oo0oooooooon -392.300
odB [ wl w2 W L A
- - 3.85  99.14 381.689
UOOF | wl w2 W L A
- - 3.85 95.53 367.791
O W=(wl+tw2)x 1/2
O A=Wx L
gogogggag
Al = = 199.000
A2 = = 330.700
gd 1950.866 0?2 1,950.9
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ogoooogn

gooooogd
ooooo O0000000000o0ood o0 ooo
ogooo 00O 0O ONO0.0+2.50 EP(NO.5+1.64) L=99.14m
ooooo oo w= 0.25 L= 99.14m
oo w= 0.25 L=99.14m

00O 0O ONO0.0+2.50 EP(NO.4+18.03) L=95.53m
oo w= 0.25 L= 95.53m
oo w= 0.25 L= 95.53m

000 (00000As(3) t=4cm)
Al= 0.25 x 99.14
A2= 0.25 x 95.53

24.785
23.883

s 48.668 [1% 48.7
000 ODD0O000D0D0OM-300 t=10cm)
Al= 0.25 x 99.14 = 24.785
A2= 0.25 x 95.53 = 23.883
> = 48.668 2 48.7




M ERIEE 2EHMTBRIMELER
I & 7Ol S -“Fivd = =
T EET aU9)—kREFD t=140mm m2 89.3
SREAN)YS 4.0 X 60 SM490A m 15200 |JTft
RILEFyb M12 X 40 K 522
Ay TL—k 6% 115 X 500 " 61
JLTL—+ 20 X 75 X 600 >4 80
BIKBHRL# 4%x420% L m 100.0
IhEREAE SR PL-250 X 250 X 3.2 m 225 |0=55°
IhEREAE SR PL-250 X 250 % 3.2 m 6.75 |0=94°
InEpRE LR PL-250 X 250 X 3.2 m 450 |6=120°
InEpEEE PL-250 X 250 X 3.2 m 225 |6=125°
TAa—F7rh— M12 L=90mm ;N 24
AEE PL-60 X 60 X 6 54 24
LoV —kI avsy)—k 24-8-25 m3 34
B m2 23.4
B 4t BB ERE20mMm | m2 1.4
5950 SD345 D13 kg 249.2
BT T34 vk m
IR SR T avyl)—k 24-8-25 m3 33.4
B m2 88.1
B #h#+ B E MM B ARt=20mm m2 6.1
#HLary)—k 18-5-40 m3 42
HLar ) —hRR m2 1.7
WM RC-40 m3 22.3
FAEXFO—)L R HERYRAFLY 744 m2 8.3
t=50mm
IJLTL—F SBR t=10mm ma2 5.0
5950 SD345 D22 kg 724
5950 SD345 D19 kg 917
5950 SD345 D16 kg 659
5950 SD345 D13 kg 978
BT avy)—k 18-8-40 m3 1.9
B m2 7.3
5950 SD345 D13 kg 9.0
WM RC-40 m2 9.1
FEEI)Y-+T avy)—k 18-8-40 m3 0.9
B m2 5.1
5950 SD345 D13 kg 8.4
e el T8 m3 69.1
HER m3 11.3
B+ TAZER m3 520.6
BEokE BEmI/ILI—E 24V 3—#1 % m3 405
BEKT S4B 240V 3—#1 % m3 415
W FhLES—F m?2 74.6




HELTEHE

* = £
7l & BAf Hn =
a o) —bREY t=140mm m2 89.340
SRERN) YT 4.0 X 60 SM490A m 1520.00
RILEFvb M12 X 40 X 522
HEvrTL—k 6 % 115 x 500 " 61
JLTL—+ 20 X 75 X 600 ® 80
FEIKEGRD 4%x420% L m 100.0
InEpR LR PL-250%250%3.2(0=55")| m 2.25
InEpRE LR PL-250%250%3.2(0=94°)| m 6.75
InEpRE LR PL-250 X 250 X 3.2(6=120°) m 450
InEpRE LR PL-250 X 250 X 3.2(0=125")] m 2.25
Fa—72h— M12 L=90mm V. 24
AEE PL-60 X 60 X 6 " 24




Wt RN E

BEIXY
&= L5 BE “HiE BmiE W miE HE
g X = S(mm) (m2) (¢ (m2)
1 F 4 1500 X 1500 2.250 15 33.750
13 F 6 1500 X 1500 2.250 4 9.000
2 FS 4 1500 X 1480 2.220 3 6.660
3 FL 4 1360 X 1500 2.040 3 6.120
15 FL 6 1360 X 1500 2.040 1 2.040
7 HS 2 1500 X 730 1.095 3 3.285
8 H 2 1500 X 750 1.125 2 2.250
20 H 3 1500 x 750 1.125 2 2.250
9 HLS 2 1360 x 730 0.993 1 0.993
11 HRS 2 1360 x 730 0.993 1 0.993
NGt 354K 67.341 m2
J—F—R*xy
5= o= EE ~Tik BE{ImiE W miE e
& x = &(mm) (m2) (#) (m2)
70 CF 2 200 X 1500 0.300 4 1.200
71 CFS 2 200 X 1480 0.296 1 0.296
12 CHS 1 200 x 730 0.146 1 0.146
NG 64X 1.642 m2
BRRxy
55 o= EE ~Tik BE{ImiE W miE e
& x = &(mm) (m2) (#) (m2)
86 FEL 4 950 X 1500 1.425 2 2.850
87 FELS 4 950 X 1480 1.406 1 1.406
88 HELS 2 950 Xx 730 0.694 - -
89 FER 4 950 X 1500 1.425 1 1.425
90 FERS 4 950 X 1480 1.406 1 1.406
91 HER 2 950 X 750 0.713 1 0.713
92 FER 4 840 X 1500 1.260 4 5.040
93 HERS 2 840 Xx 730 0.613 1 0.613
94 FEL 2 680 X 1500 1.020 - -
95 FELS 2 680 X 1480 1.006 - -
96 HEL 1 680 X 750 0.510 - -
97 HEL 2 680 X 750 0.510 - -
98 FER 2 680 x 1500 1.020 - -
99 FER 4 680 x 1500 1.020 - -
100 FERS 2 680 Xx 1480 1.006 - -
101 FEL 2 660 X 1500 0.990 3 2970
102 HELS 1 660 x 730 0.482 1 0.482
103 HEL 2 660 Xx 750 0.495 1 0.495
104 FER 2 660 x 1500 0.990 2 1.980
105 FERS 2 660 Xx 1480 0.977 1 0.977
=E 195 20.357 m2




AV —bREY

% F OB W mis =
oo )—kREY ZHEIYY 35 67.341
a—F—R*Y 6 1.642
EmAxy 19 20.357
a&t 60 89.340
ArYyF
% F OB B | % =
EEERN) YT 4.0 60 L=350m  (350) & 1 It
SM490A L=450m  (450)| » 1 "
L=5.00m  (5.00)| # 44 "
L=5.50m  (550)| # 36 "
L=6.00m  (6.00)| 68 "
L=6.50m  (6.50)| 31 "
L=7.00m  (7.00)| » 57 "
L=7.50m  (7.50)| # 5 "
L=8.00m  (8.00)| 6 "
T £ m 1520.00
& &t & 249
w OE K m 1520.00
BElEHM
% ¥ OB B | % S
RILEFYb M12 X 40 PN 522
HevbTL—hk 6% 115 % 500 754 61
JLTL—b 20 x 75 X 600 ) 80
BEIKBHEY#A 4x 420X L m 100.0
ImERERAEEE PL-250 X 250 X 3.2 m 2.25 6 =55°
InE SR PL-250 x 250 X 3.2 m 6.75 6=94°
ImERERAEEE PL-250 X 250 x 3.2 m 450 6=120°
InERERAEEE PL-250 X 250 X 3.2 m 225 6=125°
Ta—7rh— M12 L=90mm . 24
AEE PL-60 X 60 X 6 3 24




LUk
B = (AN R+ 2R B E AN Y7 RE+ Db V- MEL—FHBIAN) v 7 AR Eh) x 2
= ( 249 + 0 + 61 — 49 )x 2 = 522K
HEyrIL—k
n= 61 #Ff = 61
SJLTL—Fk

n= (RFUHMEH—RIFARFRE — K BEBLIEFKE) x AR S Y OERAKE
(1FEZF2]

=( 3% — 8 — 0 I)x 2 = 54
[2—F—RFV]
ERTEZEIN)=( 6 — 2 — 0 )x 1 = 4 1
[BERRF]
(L=750mm)= ( 8 — 2 — 0 )x 1 = 6 &
L>750mm)= ( 11 — 3 — 0 )x 2 = 16 #&
ait= 80 #
-InER SR
PL-250%250x 3.2  6=55° = 225m
PL-250%x250x 3.2  6=94° = 675m
PL-250%x250%x 32 6=120° = 450 m
PL-250x250%x 32 6=125° = 225m
-7A—TF2h—
n=  IGEREAEEBEBEAmAR x 2K
1.50 m 9 x 2 = 18 K
0.75 m 3 x 2 = 6 K
Bit= 24 K

-AEE

o]
I

FO—F2oh—1KRK X1
= 24 x 1 = 24 ¥



- EIKARD#

DL=50.00

g =
s

v 4 4 4 4
0.6, o 0.5, G R8sy, N %, Qg Oy "
<8¢5 ) ) <055 835
16588 2057 6164
6809 1833 3414 4532
0 65.643
noooo
0 64.643
- |
H63.5%2 163 368
D 0 62.906
2
oooooo
( ) & % g Z i 0061700
'l ”ﬁ 919 —
Nl eyl
J i i
| 1/ A i
'/ =
[757.200
774 /[A Al
[P b j
20000 7 e
I 5 00

AR X (140

87.43 x(1+0.10) =

HEIXIOMEMIZESDHDH, (BIY L)

96.17 =

"k IEREL---+0.10

100.0 m

e | Kam) @] FEKE(m)
1 0.73 —
2 1.48 -
3 2.23 -
4 2.98 -
5 3.73 3] 11.19
6 4.48 4] 17.92
7 5.23 -
8 5.98 3] 17.94
9 6.73 6| 40.38
10 7.48 —
11 8.23 -
12 8.98 —
13 9.73 —
14 10.48 -
15 11.23 -
16 11.98 -
17 12.73 -
18 13.48 -
19 14.23 -

20 14.98 -
21 15.73 -
22 16.48 -
23 17.23 -
24 17.98 -
25 18.73 -
26 19.48 -
27 | 2023 -
28 | 2098 -
29 | 2173 -
30 | 2248 -

S GREEE) 87.43




ZaV))— b IHE

*r = =
7 Al RO® =-Liva =
avy)—k 24-8-25 m3 3.4
B m2 23.4
B #th#t i ik B R t=20mm m2 1.4
E53:] SD345 D13 kg 249.2
BT TS5k m




HEaLH)—rIEHEFE

2@750
3@750

IA 9.117 )
FEHET T Teses 0 0¥
7oy | TYPE| L1 L2 L3 L4 H1 H2 miE | ERmiE| 2miE
1 1 6.809 0.339| 0.753| 3.718 — 3.718
2 1 1.833 0.227| 0.339] 0519 — 0519
3 2 3414 0.696 0.722| 0227| 2900 0522 2.378
4 1 4532 0.382| 0.722| 2502 — 2.502

=11 16.588 9.639 0.522 9.117




|

50| 200 |50

H-100

50
80
80

0

11 — D13 X 1500

H+150
H+250

H
H-100
a b
=[] J
a |b
Q

0
3|38 S —
N
2l3 S
+
__/\,__ -
D13-0300 O.:
@ —
140 160
c2 11 — D13 X 810
H= 550 mm(FEHE)
2840
a= 1 @ 250 = 250 mm
b= 1@ 140 = 140 mm
C3 7 — D13 x 2840
Bm#AY)
C1 1500 X 0995 x 11 = 16.418 kg
c2 0810 X 0995 x 11 = 8.865 kg
C3 2840 X 0995 Xx 1 = 19.781 kg

W= 45064 kg



ZavH—rIHE

300
T o
&
. -
o
&
A
160
a9 )—k
V= ( 0300 X 0.550
iy e
=R A1= ( 0300 X 0.550
B @ A2= 0550 X 16.588
T H A= 0800 X 16.588
- B tth#t
A= 0.300 X 0.550
-$& 5
W= 45064 X 16.588
- RBIBIT S5 vk

L=

0.160

0.160

0.160

3.000

X

X

X

B tthy gk

0.250 ) x

0.250 ) x

0.250 ) x

550 mm
16.588 m
7 4B
16.588 = 3.401 m3
5 = 1.025 m2
= 9.123 ma2
= 13.270 m2
A = 23.418 m2
7 = 1.435 m2
= 249174 kg
= m



MBI MIEESHEIEE

7l S --Fivd =
avy)—k 24-8-25 m3 33.4
B m2 88.1
B #h#+ i i B Rt=20mm m2 6.1
HLavoy—k 18-5-40 m3 42
BLavo)—rE m2 1.7
WM RC-40 m3 22.3
FAXFAO—)L RN YAFLYIA—L | m2 8.3
t=50mm
IJLTL—+ SBR t=10mm ma2 5.0
Evi] SD345 D22 kg 724
5950 SD345 D19 kg 917
5950 SD345 D16 kg 659
5950 SD345 D13 kg 978




2800

2400

300_ | 100

. =
B | azz -
onoooo & g8
nruruey 0oo
noooooooo Uooooooo
|300 | | 50
2800 1L
HTER
=TiE EREE R
A= 0.300 + 0.460 + 1.260 = 2.020 m2
ER
L= 16.548 = 16.548 m
-avy')—hk
V= 2020 X 16.548 = 33.427 m3
B0
ZHR A= 2020 x 1 = 2.020 m2
Al @ A= 2.600 X 16.548 = 43.025 ma2
Em| A= ( 1.000 + 1.150 + 0.450 ) x 16.548 = 43.025 m2
YA = 88.070 ma2
- Bith#t
A= 2020 X 3 = 6.060 ma2
-yLav)—k
V= 2550 X 0.100 X 16.548 = 4.220 m3
-HLaro)—rE R
A= 0.100 X 16.548 = 1.655 ma2
- ELHEM
V={ 2950 X 0.500 + 0.500 X 0.500 X 0.500
—( 2550 X 0.100 ) } x 16.548 = 22.257 m3
-FARAFO—IL
A= 0.500 X 16.548 = 8.274 ma2
-JLTL—bk
A= 0.300 X 16.548 = 4.964 m2
-85 (BLA S HR)
D22 W= 724 X 16.548 .~ 16.548 = 724 kg
D19 W= 917 X 16.548 .~ 16.548 = 917 kg
D16 W= 659 X 16.548 .~ 16.548 = 659 kg
D13 W= 978 X 16.548 .~ 16.548 = 978 kg



BIHME
*h = =
& Al b3} % BifsT # =
avo—k 18-8-40 m3 1.9
Einp m2 7.3
£330 SD345 D13 ke 9.0
E i RC-40 ma2 9.1




HEEIHE

__/\/__
0o0o0o0ooooo
50
50
oo0ooooog D13@750
8
g
10Q w1 1100 oog
W2
HIERIK
avyl)—k Wi= 600 mm Hi=
M W= 800 mm Ho=
EE
L= 6.809 + 4532
avo)—k
(1Z#51)
Vi= 0.600 X 0200 X  11.341
[EREER]
447°A Vi= 1/2  x( 0575 + 0200 )X
X
447’B V2= 1/2  x( 0950 + 0200 )x
X
447°C V3= 1/2  x( 1325 + 0200 )X
X
Eity
(#Z#151)
BSmE Al= 0.200 X 2 X 11.341
Z3Hh A2= 0.600 X 0.200 x 0
[EREER]
447A Al= 1/2  x( 0575 + 0.200 ) x
+ 0.600 x
447B A2= 172 x( 0950 + 0.200 )X
+ 0.600 x
447°C  A3= 1/2  x( 1325 + 0.200 ) x
+ 0.600 x
730
W= 11341 ~ 0750 X 0.995 X
B
A= 0800 X  11.341

200

AES)=1: 05
BALT & H(m) B(m)
BALTA 0.750 0.575
247B 1.500 0.950
247C 2.250 1.325
200 mm
200 mm
= 11341 m
= 1.361 m3
0.750
0.600 x 0 = 0.000 m3
1.500
0.600 x 1 = 0518 m3
2.250
0.600 x 0 0.000 m3
TV 1.879 m3
4536 m2
0.000 m2
0.750 x 2
0.950 )X 0 = 0.000 m2
1500 X 2
1.700 ) X 1 = 2.745 m2
2250 x 2
2.450 )X 0 = 0.000 m2
A 7.281 m2
0.300 X 2 = 9.027 kg
= 9.073 m2




REIVI)—FIHE=E

B

B

& 7l =
avo)—k 18-8-40 m3 0.9
B m2 5.1
E53:] SD345 D13 kg 8.4




T E TR
A=
TR
L=
-avo)—+k
V=
E
BIEE Al=
fim A3=
- $K
W=

ooooooooo

ooooooono

50

50

18-8-40
S 0 0 0D130
0750 L=300
| 00 0D130
oooooooo @750 L=300
18-8-40
400
oo ooo H
20 |20000 354
40 20000 316
= =S
0.400 X 0.354 + 0.130 X 0.200 = 0.168 m2
5.247 = 5247 m
0.168 X 5.247 = 0.881 ma3
0.354 X 5247 X 2 + 0.200 X 5247 = 4764 ma2
0.168 X 2 = 0.336 m2
A = 5.100 m2
5.247 0.750 X 0995 X 0.300 X 4 = 8.353 kg



T ITHE

PEH FS — =
o m3 11.3
2L TASS m3 520.6




IE \II| :iE:J\)

B = EE R WrmEmiE | FHEEE T= =
(m) (m2) (m2) (m3)
NO. 5 + 2.057 - 6.1 - - ERE A
NO. 5 + 6.583 4532 6.1 6.10 27.6 | ¥Z 4E i o (] 38 AR
NO. 5 +11.830 - 6.1 - -[{EE T ERE A
NO. 5 +18.642 6.809 6.1 6.10 41.5|FZ 2 @ A
=) & 11.341 69.1




2R

B = EE R WrmEmiE | FHEEE T= =
(m) (m2) (m2) (m3)
NO. 5 + 2.057 - 1.0 - - ERE A
NO. 5 + 6.583 4532 1.0 1.00 4.5 |12 4 b e (X038 AR
NO. 5 +11.830 - 1.0 - -[{EE T ERE A
NO. 5 +18.642 6.809 1.0 1.00 6.8 |12 2E 47 & X
=) & 11.341 11.3




Bt (TAER)

B = ik PrEiE | FHE@EE T= =
(m) (m2) (m2) (m3)

NO. 5 + 2.057 - 25.4 - -|[AZZE BT E R ]+4.48/6.73
NO. 5 + 6.583 4532 33.9 29.65 134.4| 42 4E M X]]%5.98/6.73
NO. 5 + 6.583 - 21.2 - -|[AZZEBrE R ]%3.73/6.73
NO. 5 +10.000 3414 25.4 23.30 79.5 |42 ZE BT E ] ]%4.48/6.73
NO. 5 +11.830 1.833 25.4 25.40 46.6 (4R 4E #rE X]+4.48/6.73
NO. 5 +11.830 - 38.2 - -[FEXERTmE RE A
NO. 5 +18.642 6.809 38.2 38.20 260.1|#Z & by (X1 5% AR

& i 16.588 520.6

- HEOCEXTERAMEEDESSLICISMERFTHRN

GE AR R BT EAR] x (FR R ER)/ GERMEERS)
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BEKEBRE

¥ = & 5
& Al iR 1% i==Liva =
BEmIILI—E 24N E3—F1$ m3 405
BEK ISy E 24V i—%1 % m3 415
B IES —k m2 74.6




500

00000o0o0d

o0o0o0ooooo

BREE I ILE—E

-8.294

m2

niEEiE
EZES(@E) XBE&ER
BEKT 70y ER A= -0500 X 16.588
A =
BETEFE mEEE BEEEMI-BE
V= ( 89.340 + -8.294 )x 0.500
HEKITSo v B
V= 41.470
A= 74.646
B(m) A(m2) L(m) V(m3) B2(m) A2(m2)
5.00 2.500 16.588 41.470 450 74.646
=1 16.588 41.470 &% 74.646

B: R FERRAN )T RE
A HEK TSy B mEE
A=B x 0.50(3F K770y E)
L: FEEE&
V: BEK TSy MK
V=AXL
B2: IRHEFHIES —F RS
B2=B-0.50

A2: IR IES —FETE
A2=B2 X L

-8.294

40.523

41.470

74.646

m2

m3

m3

m2



M ERBER AEWHRLIBRIRIER
I & Bl S =R iva = =
LT AV )—hREFY t=140mm m2 152.5
EERERAN) YT 4.0 X 60 SM490A m 20160 |JJ{¢
RILEF vk M12 X 40 PN 742
HEeytTL—k 6X 115 X 500 54 57
JLTL— 20 x 75 x 600 ® 128
FEIKFGE A 4x420% L m 150.0
ImEpE R EE R PL-250 X 250 X 3.2 m 225 |6=55°
ImEbE R R PL-250 x 250 X 3.2 m 450 |6=57°
ImERERE B PL-250 X 250 X 3.2 m 750 |6=86°
ImEpERE S E PL-250 x 250 X 3.2 m 225 |0=128°
FTO—F7 h— M12 L=90mm N 24
AEE PL-60 X 60 X 6 54 24
Lavo)—kT avy)—k 24-8-25 m3 5.0
iy ey m2 348
B th#f BEEHHEERE20mm | m2 2.0
7] SD345 D13 kg 3724
BiHET T34k m
MIIPhEEMERT avy)—k 24-8-25 m3 6.0
iy m2 14.6
B th#f BEEHHEERE20mm | m2 1.7
#BLary)—r 18-5-40 m3 0.8
HLa o )—rE m2 0.7
EREM RC-40 m3 55
¥AZXFO—)L BHERYAFLY 744 m2 35
t=50mm
JLTL—F SBR t=10mm m?2 2.1
7] SD345 D16 kg 254
Y] SD345 D13 kg 167
IR ERET avy)—k 24-8-25 m3 33.2
B m2 77.4
B 4+ FEBMHERE20mm | m2 3.7
HLavo—k 18-5-40 m3 48
HLa o )—rE m2 18
EREM RC-40 m3 24.9
¥AZXFO—)L BHERYAFLY 744 m2 9.0
t=50mm
JLTL—F SBR t=10mm m?2 54
Y] SD345 D22 kg 540
53] SD345 D19 kg 999
%5 SD345 D16 kg 740
%5 SD345 D13 kg 974
HEET avy)—k 18-8-40 m3 2.5
i m2 9.1
53] SD345 D13 kg 15.6
EREM RC-40 m2 15.7




BMERESR IERBRLRTIRER
I & Al BB =R iva = =

SRAEEIV)-+T av9)—k 18-8-40 m3 038
B m2 47
730 SD345 D13 kg 8.4

T #iEEl T m3 1222
BR m3 19.7
Bt TAER m3 833.7

HEKE BERI/IVI—E 74V 5—#1 %4 m3 70.0
KIS vk B 741 5—%1 %4 m3 62.4
W HBGE S —k m2 1124




5 548 L

BHE
o = £

7 Al RO® BAf B £
a9 —kRF t=140mm m2 152.497
EaERN) YT 4.0 X 60 SM490A m 2016.00
RILEF Yk M12 x 40 P 742
HteyhIL—k 6 X 115 X 500 ® 57
JLTL—bk 20 X 75 X 600 ® 128
KB #4 4% 420 %L m 150.0
It EREE R PL-250 X 250X 3.2(6=55")| m 2.25
InEfEREE R PL-250 X 250X 3.2(6=57°)| m 450
e A=Y PL-250 % 250%3.2(6=86°)| m 7.50
It EREE R PL-250 X 250 X 3.2(6=128")] m 2.25
FO—72h— M12 L=90mm A 24
AEE PL-60 X 60 X 6 " 24




ms T RN E

ER -
&= s BE ~ti& BE{ImE & miE BE
g X S =(mm) (m2) (#0 (m2)

1 F 4 1500 X% 1500 2.250 36 81.000

13 F 6 1500 X% 1500 2.250 8 18.000

2 FS 4 1500 X 1480 2.220 5 11.100

3 FL 4 1360 x 1500 2.040 - -

15 FL 6 1360 x 1500 2.040 - -

7 HS 2 1500 X% 730 1.095 7 7.665

8 H 2 1500 X% 750 1.125 2 2.250

20 H 3 1500 X% 750 1.125 5 5.625

9 HLS 2 1360 x 730 0.993 1 0.993

11 HRS 2 1360 X% 730 0.993 - -
/INET 641K 126.633 m2
aJ—F—A¥Y

=1 ko) BE Tk BE{ImE M miE HE
& X = &(mm) (m2) (0 (m2)

70 CF 2 200 x 1500 0.300 4 1.200

71 CFS 2 200 X 1480 0.296 - -

72 CHS 1 200 x 730 0.146 2 0.292
IR 64K 1.492 m2
BERAxD
&= ko) BE Tk BE{ImE M miE HE

& X = &(mm) (m2) (0 (m2)

86 FEL 4 950 x 1500 1.425 2 2.850

87 FELS 4 950 X 1480 1.406 - -

88 HELS 2 950 x 730 0.694 1 0.694

89 FER 4 950 x 1500 1.425 1 1.425

90 FERS 4 950 X 1480 1.406 1 1.406

91 HER 2 950 x 750 0.713 1 0.713

92 FER 4 840 x 1500 1.260 - -

93 HERS 2 840 x 730 0.613 - -

94 FEL 2 680 x 1500 1.020 5 5.100

95 FELS 2 680 X 1480 1.006 2 2.012

96 HEL 1 680 x 750 0.510 1 0.510

97 HEL 2 680 x 750 0.510 1 0.510

98 FER 2 680 x 1500 1.020 6 6.120

99 FER 4 680 x 1500 1.020 1 1.020

100 FERS 2 680 x 1480 1.006 2 2.012

101 FEL 2 660 x 1500 0.990 - -

102 HELS 1 660 x 730 0.482 - -

103 HEL 2 660 x 750 0.495 - -

104 FER 2 660 x 1500 0.990 - -

105 FERS 2 660 x 1480 0.977 - -
=1 2411 24.372 m2




Ao )—bRFY

% W RO® Wk miE W E
a9 —hRFY ER -y 64 126.633
a—F—RFY 6 1.492
BEfRAxY 24 24.372
=111 94 152.497
ARYwF
% W RO® B | #% 2 W E
ERERN) YT 4.0%60 L=250m  (250) & 10 Y4t
SM490A L=3.00m  (3.00) 1 "
L=3.50m 350) o 11 "
L=450m  (450)| 8 7
L=5.00m  (5.00)| 83 "
L=5.50m (5.50) o 30 "
L=6.00m  (6.00)| 54 "
L=6.50m  (6.50)[ 76 "
L=7.00m  (7.00)[ # 64 "
L=7.50m  (7.50)| 9 "
HE £ m 2016.00
= &t X 346
B OE K m 2016.00
BElEHM
& Fp RO® B | #E W E
RILEF Yk M12 x 40 P 742
HteyrIL—k 6 X 115 X 500 " 57
JLTL—b+ 20 X 75 X 600 ® 128
BIKBAED#4 4x420% L m 150.0
InEREAE TR PL-250 X 250 X 3.2 m 2.25 0 =55°
InERER £ B PL-250 X 250 X 3.2 m 450 6=57°
InERERE TR PL-250 X 250 X 3.2 m 750 6=86°
IR EE R PL-250 X 250 X 3.2 m 225 06=128°
Fa—72h— M12 L=90mm X 24
AEE PL-60 X 60 X 6 " 24




-RILEF ok
B = (ANYTRE 2R MEAN T RE+H 197 V- MBI —#EBIAM) v 7 AR E) % 2

= ( 36 4+ 0 + 5 — 32 )x 2 = T4 XK
Ay ITL—k
n= 57 4P = 57 #&
JLTL—b
n= (REIUBEB—KRIGARF ORI —FVBLRAFRE) x 1{ERTHY O ARE
€GBV ED|
=( 64 — 13 — 0 )x 2 = 102 &
[(a—F—R%Y]
EERTEZEIN)=( 6 — 2 — 0 )X 1 = 4 1
ESFEDD|
(L=750mm)= ( 18 — 4 — 0 )x 1 = 14
L>750mm)= ( 6 — 2 — 0 )x 2 = 8 ¥
Bit= 128 &
iR EE R
PL-250x250%3.2  6=55° = 225m
PL-250x250%32  6=57° = 450 m
PL-250x250%3.2  6=86° = 750 m
PL-250x250%32 6=128° = 225m
"TA—=TH—
n= InERABREEEAMARH X 2K
1.50 m 10 X 2 = 20 K
0.75 m 2 x 2 = 4 K
Bit= 24X

-FAEE
n=  TFA=T7IUA—IRX1K
= 24 x 1

Il
N
N
5+
=



- EIKFHED#

0 62.507

DL=50.00

& P ) A o Py}
S b b . 22 PELE Y
] o o o o o o
6005 24976
3071 2368 2880 7120 9537
065.710
oDoooo 064.710
D64.117
063,368 D 63.584 oo
D0 62.964 S U -
_——— L = | T763.020 L
- I T62.280 (@ooooo)
061,740 D 61530 B
wmooo N ¢ I e I | | | || ||
| 4 | 4 | |
,747 ,7
(. 1/ | | | |
V1
57,240
| | i | | | | |
20000 i = — T T T
L ]
/77 M— 5 5 2 2
:::: L444&52;%444‘4‘44{:5{7L44J [ m— — —
9 I U B

= A HE X (1+)

= 133.06

X(1+0.10) = 14637 = 1500 m

B IXIOMBERLIIZEDZDH D, (VY LEF)
‘k:FHIEfREL---+0.10

5 [ B&(m)|[EFEY EEREm)
1 0.73 —
2 1.48 -
3 2.23 -
4 2.98 —
5 3.73 5 18.65
6 4.48 —
7 5.23 1 5.23
8 5.98 4] 2392
9 6.73 6] 40.38
10 7.48 6] 4488
11 8.23 -
12 8.98 -
13 9.73 -
14 10.48 —
15 11.23 -
16 11.98 -
17 12.73 —
18 13.48 —
19 14.23 —

20 14.98 -
21 15.73 —
22 16.48 -
23 17.23 -
24 17.98 -
25 18.73 -
26 19.48 -
27 20.23 -
28 20.98 -
29 21.73 -
30 22.48 —

&5 GrEtEE) 133.06




ZaV))— b IHE

* = £
7 Al RO® =-Liva =
avy)—k 24-8-25 m3 5.0
B m2 348
B #th#t i ik B R t=20mm m2 2.0
E53:] SD345 D13 kg 372.4
BT TS5k m




Lo H)—rIEHEFS

2@750
3@750

IA 13.538 )
TR T e MMM
7oy | TYPE| L1 L2 L3 L4 H1 H2 miE | ERmiE| 2miE
1 1 3.071 0.374| 0.601 1.497 — 1.497
2 1 2.368 0.601| 0.778 1.633 — 1.633
3 1 2.880 0.778| 0.994| 2552 — 2.552
4 2 7.120|  6.963 0.994| 0.777 8.975 5.222 3.753
5 2 9.537| 8.180 0.777| 0.620| 10.238 6.135  4.103

=11 24.976 24895 11.357| 13538




|

50| 200 |50

H-100

50
80
80

0

11 — D13 X 1480

H+150
H+250

H
H-100
a b
=[] J
a |b
Q

0
3|38 S —
N
2l3 S
+
__/\,__ -
D13-0300 O.:
@ —
140 160
c2 11 — D13 X 800
H= 540 mm(FEHE)
2840
a= 1 @ 250 = 250 mm
b= 1 @ 130 = 130 mm
C3 7 — D13 x 2840
Bm#AY)
C1 1480 X 0995 x 11 = 16.199 kg
c2 0800 X 0995 x 11 = 8.756 kg
C3 2840 X 0995 Xx 1 = 19.781 kg

W= 44736 kg



Fa0—tIHE

300
- o
&
| -
o
&
A
160
a9 )—k
V= ( 0300 X 0.540
iy e
=R A1= ( 0300 X 0.540
BI@E A2= 0540 X 24976
T H A= 0790 X 24976
- B tth#t
A= 0.300 X 0.540
-$& 5
W= 44736 X 24976
- RBIBIT S5 vk

L=

0.160

0.160

0.160

3.000

X

X

X

H=

L=

B tthy gk

0.250 ) x

0.250 ) x

0.250 ) x

540 mm
24976 m
10 7R
24976 = 5.045 m3
8 = 1.616 m2
= 13.487 m2
= 19.731 m2
>A = 34.834 ma2
10 = 2.020 m2
= 372442 kg
= m



7l S --Fivd =
avy)—k 24-8-25 m3 6.0
B m2 14.6
B #th#f FEEMEERE20mm [ m2 1.7
HLavoy—k 18-5-40 m3 0.8
BLavo)—rE m2 0.7
WM RC-40 m3 55
FBRAFO—)L RN YAFLYIA—A | m2 35
t=50mm
IJLTL—+ SBR t=10mm ma2 2.1
5950 SD345 D16 kg 254
5950 SD345 D13 kg 167




I DR T R

VTR
A=
EE
L=
-avo)—k
V=
B
ZERR A=
i@ A=
Em@m A= (
- B #h#f
A=
-HLaro)—r
V=
-HLar o) — R
A=
- B
V= {
FAEAFO—)L
A=
SLTL—F
A=
-85 (BEA RS R)
D16 W=
D13 W=

BX
0

EE
.240

6.946
0.870
0.870
1.050
0.600
0.870
1.150

0.100

1.550

0.500

0.300

254
168

1400

400 1000

‘gjf _
S T J -
E <N
0ooooo N
oopoooo ooo
00oooooog Oooooooo
300_|| 50
1400 |_400 |
100
JEhR
+ 0.630
X 6.946
X 0
X 6.946
+ 0.450 ) x 6.946
X 2
X 0.100 X 6.946
X 6.946
X 0.500 + 0.500 X 0.500 X
—( 1.150 X 0.100 ) } x
X 6.946
X 6.946
X 6.946 6.946
X 6.946 6.976

0.870

6.946

6.043

0.000

7.293
7.293

mz2

m3

mz2
mz2

mz2

14.586

1.740

0.799

0.695

5.453

3.473

2.084

254
167

mz2

mz2

m3

mz2

m3

mz2

mz2

kg
kg



MBI MIEESHEIEE

7l S --Fivd =
avy)—k 24-8-25 m3 33.2
B m2 774
B 4t BB ERE20mm | m2 3.7
HLavoy—k 18-5-40 m3 48
HLavy ) —h R m2 1.8
WM RC-40 m3 24.9
FBRAFO—)L RN YAFLYIA—L | m2 9.0
t=50mm
IJLTL—+ SBR t=10mm ma2 5.4
5950 SD345 D22 kg 540
5950 SD345 D19 kg 999
5950 SD345 D16 kg 740
5950 SD345 D13 kg 974




BAT2

2900

2500

100

2050

1000

%8
B ] Y -
300 || 50
VTR
=X EREE [EhR
A= 0300 + 0240 +  1.305 = 1.845 m2
EE
L= 17.970 = 17970 m
-avo)—k
V= 1.845 X 17.970 = 33155 m3
R
FHR A= 1.845 X 2 = 3.690 m2
AIE A= 2050 x 17.970 = 36.839 m2
ET@®E A= ( 1000 + 0600 + 0450)x 17.970 = 36.839 m2
A = 77.368 m2
- B #h#f
A= 1.845 X 2 = 3.690 m2
-HLaro)—r
V= 2650 X 0100 x 17.970 = 4762 m3
Lo o) —RER
A= 0.100 x 17.970 = 1.797 m2
- B
v=1{ 3050 X 0500 + 0500 X 0500 X 0500
—( 2650 x 0100) }x 17970 =  24.888 m3
FAEAFO—)L
A= 0500 x 17.970 = 8.985 m2
SLTL—F
A= 0.300 x 17.970 = 5.391 m2
-85 (BEA RS R)
D22 W= 540 x 17.970 .~ 17.970 = 540 kg
D19 W= 999 x 17.970 . 17.970 = 999 kg
D16 W= 740 x 17970 ~ 17.970 = 740 kg
D13 W= 974 x 17970 ~ 17.970 = 974 kg



o

H
3
Bl

*h = £

& Al RO BifsT # =
avo)—k 18-8-40 m3 25
B m2 9.1
£330 SD345 D13 ke 15.6
E i RC-40 ma2 15.7




EETHE

goooogoog

ooooooon D13@750
8
1. | =
g
1.0Q W1 100 00ono
W2
EHRERAK
avo)—k Wi= 600 mm Hi=
ERE W= 800 mm H2=
EE
L= 2921 + 16.657
-avo)—k
(1RZE8R)
Vi= 0600 X 0200 x 19578
[ExZ=ER)
847°A Vi= 1/2  x( 0575 + 0.200 )X
X
447B V2= 1/2  x( 0950 + 0200 )X
X
447°C V3= 1/2  x( 1325 + 0200 )X
X
B
(1RZE8R)
EmE Al= 0.200 X 2 x 19578
ERR A2= 0600 x 0200 X 1
[ExZ=ER)
S47A Al= 1/2  x( 0575 +  0.200 )X
+ 0.600 X
447B A2= 1/2  x( 0950 +  0.200 )X
+ 0.600 X
447°C A3= 172 x( 1325 + 0200 )x
+ 0.600 X
53]
w= 19.578 .~ 0750 X 0995 X
- B
A= 0800 x 19578

50

50

200

HE(S)=1: 05
BAT4 H(m) B(m)
BATA 0.750 0.575
2147B 1.500 0.950
247C 2.250 1.325
200 mm
200 mm
19578 m
2.349 m3
0.750
0.600 X 1 0.174 m3
1.500
0.600 X 0 0.000 m3
2.250
0.600 X 0 0.000 m3
sV 2523 m3
7.831 m2
0.120 m2
0750 X 2
0.950 ) x 1 1.151 m2
1500 x 2
1.700 ) x 0 0.000 m2
2250 X 2
2.450 ) X 0 0.000 m2
A 9.102 m2
0.300 x 2 15584 kg
15.662 m2




REIVI)—FIHE=E

B Al

B

B

==

avo)—k 18-8-40 m3 038
B ma2 4.7
E53:] SD345 D13 kg 8.4




T E TR
A=
TR
L=
-avo)—+k
V=
E
BIEE Al=
fim A3=
- $K
W=

ooooooooo

oooo0o0oaono

18-8-40

200

50

50

0 0 0D130
0750 L=300
| 00 0D130
oooooooo @750 L=300
18-8-40
400
oo ooo H
20 |20000 354
40 |20000 316
g B
0.400 X 0316 + 0.130 X 0.200 = 0.152 m2
5.248 = 5248 m
0.152 X 5.248 = 0.798 ms3
0.316 X 5248 X 2 + 0.200 X 5.248 = 4.366 m2
0.152 X 2 = 0.304 m2
A = 4670 m2
5.248 0.750 X 0995 X 0.300 X 4 = 8.355 kg



tIRE

i B B o —
T Es 4 ms3 122.2
i m3 19.7
= TAR m3 833.7




IE ‘g:ll :iE:J\}

B = EE R WrmEmiE | FHEEE T= =
(m) (m2) (m2) (m3)
NO. 4 +14.570 - 6.2 - -[{EE T ERE A
NO. 4 +17.630 3.071 6.2 6.20 19.0|4Z #E i X138 FH
NO. 5 + 2.877 - 6.2 - - ERE A
NO. 5 +10.000 7.120 6.2 6.20 441 [FZ 2 @ A
NO. 5 +19.537 9.537 6.2 6.20 59.1 | #Z 4 iy i [ 3% A2
& & 19.728 122.2




2R

B = EE R WrmEmiE | FHEEE T= =
(m) (m2) (m2) (m3)
NO. 4 +14.570 - 10 - -[{EE T ERE A
NO. 4 +17.630 3.071 1.0 1.00 3.1 |AZ i X5
NO. 5 + 2.877 - 1.0 - - ERE A
NO. 5 +10.000 7.120 1.0 1.00 7.1 (A2 2 i 5
NO. 5 +19.537 9.537 1.0 1.00 9.5|4Z #E 47 & X
=) & 19.728 19.7




Bt (TAER)

B = ik PrEiE | FHE@EE T= =
(m) (m2) (m2) (m3)

NO. 4 +14.570 - 28.6 - -4 ZEBr E & ]+5.23/7.48
NO. 4 +17.630 3.071 32.7 30.65 94.1|[4Z#EBT EX]%5.98/7.48
NO. 4 +17.630 - 20.4 - -|[4ZZEBTE & ]*3.73/7.48
NO. 5 2.368 20.4 20.40 48.3|[#Z 4T E X]*3.73/7.48
NO. 5 + 2877 2.880 20.4 20.40 58.8|[{ZZE BT EX]]%3.73/7.48
NO. 5 + 2877 - 36.8 - -|AR BT E X ]%6.73/7.48
NO. 5 +10.000 7.120 36.8 36.80 262.0|[tR#E BT ]*%6.73/7.48
NO. 5 +19.537 9.537 40.9 38.85 370.5 |42 & W [ 5

& & 24.976 833.7

- HEOCEXTERAMEEDESSLICIHMEREHRN

GE AR R BT EAR] x (FR R ER)/ GERMEERS)
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BEKEBRE

*h = £
& Al iR 1% i==Liva £ =
BEmIILI—E 24N E3—F1$ m3 70.0
BEK ISy E 24V i—%1 % m3 62.4
B IES —k m2 112.4




500

00000o0o0d

o0o0o0ooooo

BREE I ILE—E

B: X FERRNJWTRE
A: BEKT Sy b EETE

V: HEK TSy MMERE
B2: IRHBEFIE— MRS

B2=B-0.50
A2: IR IES —FETE

A=B % 0.50(3k K7 7059 NE)
L: REiE &

V=AXL

A2=B2 XL

niEEiE
EZES(@E) XBE&ER
BEKT 70y ER A= -0500 X 24976 -12.488 m2
YA = -12488 m2
BETEFE mEEE BEEEMI-BE
V= ( 152.497 + -12.488 )x 0.500 70.005 m3
HEKITSo v B
V= 62.440 62.440 m3
A= 112.392 = 112392 m2
B(m) A(m2) L(m) V(m3) B2(m) A2(m2)
5.00 2.500 24.976 62.440 450 112.392
= 24976 62.440 &5 112.392



ogbogbooboobodgod

oooog oooo Il OO0 0O OO0 |0O0f| oOoOoO goog
oooooo O 1.0
000000 18-8-40BB ik 47.6
02 171.4
SD295A,D13 kg 267.4
0000 @ 200 O 17.1
O 0d 000000, t=20mm | O3 4.5
O O O 7.7
0 RC-40,t=20cm 02 81.2
O 1200
O O 000 ik 6001
O O 02 810




Za i G C =\ % =
A peRE T 1.0204Y
(P i FEA)m®
Al=1/2%(0.400+0.661) > 0.87 = 0.462
A2=1/2%(0.400+0.664) X 0.88 = 0.468
A3=1/2%(0.400+0.667) % 0.89 = 0.475
A4=1/2%(0.400+0.670) > 0.90 = 0.482
A5=1/2%(0.400+0.673) % 0.91 = 0.488
A6=1/2%(0.400+0.676) % 0.92 = 0.495
AT=1/2%(0.400+0.679) X 0.93 = 0.502
A8=1/2%(0.400+0.685) % 0.95 = 0.515
A9= 1/2%(0.400+0.688) < 0.96 = 0.522
A10=1/2X(0.400+0.691) X 0.97 = 0.529
Al1= 1/2%(0.400+0.694) X 0.98 = 0.536
Al12=1/2%(0.400+0.697) X 0.99 = 0.543
A13=1/2%(0.400+0.700) X 1.00 = 0.550
Al4= 1/2%(0.400+0.900) X 1.00 0.650
A15= 1/2%(0.400+0.905) X 1.01 = 0.659
Al16=1/2%(0.400+0.910) X 1.02 = 0.668
A17=1/2%(0.400+0.920) X 1.04 = 0.686
Al18=1/2X(0.400+0.925) X 1.05 = 0.696
1.7V —h
(I8-8-40BB) | /1= 1 /9% (0.462+0.468) X 5.00 = 2.325
V2= 1/2%(0.468+0.475) X 5.00 = 2.358
V3= 1/2X%(0.475+0.482) X 5.00 = 2.393
V4= 1/2%(0.482+0.488) X 2.32 = 1.125
V5= 1/2%(0.488+0.495) X 2.68 = 1.317
V6= 1/2%(0.495+0.502) X 5.00 = 2.493
V7= 1/2%(0.502+0.515) % 5.00 = 2.543
V8= 1/2%(0.515+0.522) X 5.00 = 2.593
V9= 1/2%(0.522+0.529) X 5.00 = 2.628
V10= 1/2%(0.529+0.536) X 5.00 = 2.663
V1= 1/2%(0.536+0.543) X 5.00 = 2.698
V12=1/2%(0.543+0.550) X 5.00 = 2.733
V13=1/2x(0.650+0.659) X 5.00 = 3.273
V14= 1/2X(0.659+0.668) X 5.00 = 3.318




Za i it cl =\ % =
V15=1/2%(0.668+0.686) X 5.00 = 3.385
V6= 0.686 X 1.19 = 0.816
V17=1/2%(0.686+0.696) X 3.81 = 2.633
V18= 0.696 X 2.70 = 1.879
V19=1/2%(0.696+0.650) X 2.30 = 1.548
V20= 1/2%(0.550+0.468) X 5.60 = 2.850
= 47.571 476 m’
2.7 f AT+
Al= 1/2%{(0.87+0.908)+(0.88+0.919)} X5.00 = 8.943
A2=1/2x{(0.88+0.919)+(0.89+0.929)} X5.00 = 9.045
A3= 1/2%{(0.89+0.929)+(0.90+0.940)} X 5.00 = 9.148
A4=1/2x{(0.90+0.940)+(0.91+0.950)} X 2.32 = 4.292
A5= 1/2%{(0.91+0.950)+(0.92+0.961)} X 2.68 = 5.013
A6=1/2x{(0.92+0.961)+(0.93+0.971)} X5.00 = 9.455
AT=1/2%{(0.93+0.971)+(0.95+0.992)} X5.00 = 9.608
A8=1/2x{(0.95+0.992)+(0.96+1.002)} X5.00 = 9.760
A9= 1/2%{(0.96+1.002)+(0.97+1.013)} X5.00 = 9.863
A10= 1/2X{(0.97+1.013)+(0.98+1.023)} X5.00 = 9.965
All= 1/2%{(0.98+1.023)+(0.99+1.034)} X5.00 = 10.068
Al12= 1/2%{(0.99+1.034)+(1.00+1.044)} X 5.00 = 10.170
A13=1/2X{(1.00+1.118)+(1.01+1.129)} X5.00 = 10.643
Al4= 1/2X{(1.01+1.129)+(1.02+1.140)} X 5.00 = 10.748
A15= 1/2X{(1.02+1.140)+(1.04+1.163)} X5.00 = 10.908
A16= (1.04+1.163) X 1.19 = 2.622
A17= 1/2X{(1.04+1.163)+(1.05+1.174)} X 3.81 = 8.433
A18= (1.05+1.174) X 2.70 = 6.005
A19= 1/2X{(1.05+1.174)+(1.00+1.118)} X 2.30 = 4.993
A20= 1/2X{(1.00+1.044)+(0.88+0.919)} X 5.60 = 10.760
ity
A21= 0.462+0.468 = 0.930
2= 171.372 171.4 m°
3.8k
(SD295ADL3) | = § 995kg/m X (1.10 X 3+1.49 X 2) X 85.6/2.0
= 267.440 267.4 kg




4 R g ) 2y B =
4. T2 1a R P
(200 1= 0.40 X 85.6/2.0 = 17120 171 m
5.5 H Hi
(EFAFARZ20mm) | A~ 475+0.495+0.515+0.529+0.543+0.659+0.686+0.550
= 4.452 45 m
6.1t H
L= 0.88+0.90+0.93+0.96+0.98+1.00+1.02+1.05
= 7.720 7.7 m
(B-Rx7
(RC-40,t=20em) | A= 1 /9% (0.861+0.864) X 5.00 = 4.313
A2= 1/2%(0.864+0.867) X 5.00 = 4.328
A3= 1/2%(0.867+0.870) X 5.00 = 4.343
Ad=1/2%(0.870+0.873) X 2.32 = 2.022
AB= 1/2%(0.873+0.876) X 2.68 = 2.344
A6= 1/2%(0.876+0.879) X 5.00 = 4.388
AT= 1/2%(0.879+0.885) X 5.00 = 4.410
A8= 1/2%(0.885+0.888) X 5.00 = 4.433
A9= 1/2%(0.888+0.891) X 5.00 = 4.448
A10= 1/2 % (0.891+0.894) X 5.00 = 4.463
All= 1/2X(0.894+0.897) X 5.00 = 4.478
Al2= 1/2 % (0.897+0.900) X 5.00 = 4.493
A13= 1/2X(1.100+1.105) X 5.00 = 5.513
Al4= 1/2%(1.105+1.110) X 5.00 5.538
A15= 1/2X(1.110+1.120) X 5.00 = 5.575
Al6=1.120%1.19 = 1.333
A17=1/2%(1.120+1.125) X 3.81 = 4.277
Al8= 1.125 % 2.70 = 3.038
A19= 1/2 % (1.125+1.100) X 2.30 = 2.559
A20= 1/2%(0.900+0.864) X 5.60 = 4.939
Y= 81.235 81.2 m°




4 N 5 H =X ¥ B
8.+ LT
|
‘ oo0Qg
L
ol ]
& b s
500 950 500
ooooo ‘ ‘
00000AD1L.40
00000AD0.70
8-1.0K i
V= 1.4 X 85.60 = 119.8 120 m
8-2.HELD
V=
(Wi ) V= 0.7 X 85.60 = 59.9 60 m
8-3.5% LB
A TIcCebE | V=119.8-59.9%1/0.9 = 53.2 53 m
9. L IE A= FEREM B B ALY 81.2 81 m




ooogobooooggo

oooo oooo Il OO0 O 000 |0O0| DOooo oooo

10000000 O 1.0
O 00 00 0 O 35cm 0?2 123.1
R 18-8-2588 03| 22.2
DDDSDDD 18-8-25BB 03l 18.5
0 0 0 RC-40 03l 34.1
O 0O 0O OO VP 50 O 24.8
O 00 0 O 300% 300x 30 0?2 3.8
O 0 O |000000,t=10mm | 02 5.1
ooooooooo O O 43.6
ooooooooo O O 45.6
O O O3l 360
O 0 O pOoOooa 0é 230




4 FR 7 2 B =
157 a7/ T 1.0740
1.7 vy 7fE
(22 35cm) Al= 1/2X(1.196+1.599) X 8.34 11.655
A2=1/2X(1.599+1.711) X 4.33 7.166
A3=1/2X(1.711+1.677) X 1.83 3.100
Ad=1/2X(1.677+1.822) X 2.18 3.814
AB=1/2X(1.822+1.878) X 2.96 5.476
A6=1/2X(1.878+1.923)X5.38 10.225
AT=1/2X1/2X(1.923+4.629) X (7.63+9.57) 28.174
A8= 1/2 X (4.629+4.908) X 0.45 2.146
A9= 1/2X(4.908+4.852) X 10.53 51.386
123.142 123.1 m’
2 A= 7Y —]k
V= 123.142  X0.180m’/m* 22.166 22.2 m’
3.HAa 7Y —]
(18-8-25BB) V= 123.142X0.15 18.471 185 m’
4.3 A M
(RC-40) V1= 1/2X(0.110+0.237) X 8.34 1.447
V2= 1/2X(0.237+0.274) X 4.33 1.106
V3= 1/2X(0.274+0.263) X 1.83 0.491
V4= 1/2X(0.263+0.313) X 2.18 0.628
V5= 1/2X(0.313+0.332) X 2.96 0.955
V6= 1/2%(0.332+0.348) X 5.38 1.829
V7= 1/2X1/2X(0.348+1.608) X (7.63+9.57) 8.411
V8= 1/2X(1.608+1.772) X 0.45 0.761
V9= 1/2X(1.772+1.739) X 10.53 18.485
34.113 34.1 m’
5. KA
(VP ¢ 50) N=123.142-3.0m’/ 1 (477 41.047 42 &P
L= 42f&Hr X 0.59 24.780 24.8 m




4 T it b 2 E.
6.0 HBG1EAF
(300>300230) | A= 0.30 % 0.30 x 4287 3.780 3.8 m’
T.H Hiof
(EZAZAREIOmm) -\~ (1 509+1.822+1.923+4.908) X 0.50 5.126 51 m’
8. Kt 7Y —h T
(A) 1= 43.63 43.6 m
9. & ) —R T
(A) 1= 45.57 456 m
10.4: T
o0
o O
Yo
500 550 ‘ 500
goododdAdo.sd
dooogADo.s0
10-1.0K 4
V= 0.8X45.57 36.5 36 m’
10-2. M 5ELD
Nz
GieJH 1) V= 0.5 45,57 22.8 23 m’




G ; i A %
10-3.7% +407
D ol I e =5 i V= 36.5-22.8X1/0.9 11.2 11 m




ooogobooooggo

oooo oooo 1] 000 O 000 00| oooo oooo
20000000 O 1.0
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ooooooo 3
18-8-25BB
0 . 11.3
0 O 0 RC-40 8
J 24.2
OO0 0O 0O O VP 50 O
15.3
O 0O 0O 0O 0 300x% 300% 30 2 ’ 3
O 0 O |00o00o0o,t=10mm | 0?2 )3
goooogooodg O ]
21
goooogooodg O ]
22.2
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va i B =) = by =
25T ayJfE T 1.020%4Y
1.7y g
1
(Fx.35cm) Al= 1/2X (4.763+4.696) X 10.33 = 48.856
A2= 4.696 X 0.40 - 1.878
A3= 1/2 X (4.696+2.817) X 3.01 = 11.307
Ad= 1/2X1/2X(2.817+0.548) X (7.29+8.47) =  13.258
Y= 75.299 75.3 m®
2 A=z ) —]k
V= 75.299  X0.180m’/m” = 13.554 13.6 m°
3. E A Y —]
(18-8-25BB) V= 75.299 % 0.15 = 11.295 1.3 m°
4.5 A M
(RC-40) V1= 1/2% (1.686+1.647) X 10.33 = 17215
V2= 1.647 X 0.40 = 0.659
V3= 1/2 X (1.647+0.700) X 3.01 - 3.532
V4= 1/2 X 1/2X0.700 X (7.29+8.47) = 2.758
> = 24.164 24.2 m’
5. Kk AT
(VP ¢ 50) N= 75.299-+3.0m?/ 1 {4 it = 25.100 26 fEFT
L= 267 Fir X 0.59 = 15.340 153 m
6. 9% HH B 1 BF
(300X300X30) | A_ 0 30%0.30 X 26 &7 - 2.340 9.3 m?
7.H Hi B
(E=FAZAREL0mm) ) 6965 0.50 - 9.348 9.3 m?




va i B =1 = by =
8. Kt 2R T
(A) L= 21.03 21.0
9. Hpfa ) — 1T
(A) L= 92.91 99.9
10+ T
oD
oo
Tg
500 550 500
00D000AD1L.20
00D000ADO0.60
10-1.08 4%
V=1.2%22.21 96.7 97
10-2. HE LD
Ny
(e 1 1) V=0.6X22.21 13.3 13
10-3.7% T+
YA+TIcCakE | V= 26.7-13.3X1/0.9 11.9 192




bbb gbod

0ood 0O0od Il 0O0OD O 00O |00| o000 O0od

3000000 O 1.0
OO0 00 0 0 35cm 0?2 14.6
JHEoEE 18-8-2588 0@ 2.6
JHEoEE 18-8-2588 0e 2.2
O O 0 RC-40 O3 5.2
OO0 000 VP@ 50 O 3.0
OO0 000 300% 300x 30 0?2 0.5
O O 0 |0D00000,t=10mm | 0?2 2.1
gooooooon O O 5.9
gooooooon O O 5.9
O 0 O 100
O O 0 ooood O3 60




%, o = = P2y o =
357 uy BT 1.0:040
1.7 vy 74
s
(BEX35em) | A1= 1/2%(0.335+4.603) X 5.90 = 14567
Y= 14.567 14.6 m”
2. iA=L 7Y —kK
V= 14567  X0.180m’/m” = 2.622 2.6 m’
3. B A7) —h
(I8-8-25BB) |\ 14.567x0.15 = 2185 22 m’
4.5 A K
(RC-40) V1= 1/2X 1.761 X 5.90 = 5.195
»= 5.195 52 m’
5. KA
L= 5f& AT < 0.59 = 2.950 3.0 m
6. 9% HiBh 1IEAS
(3002300300 | A= .30 0.30 X 5T = 0.450 05 m
T.H M 7
CE7AZAREI0mm =y 117%0.50 = 2,059 21 m’
8. K= 71— T
(A) (- — 5.90 59 m
9. = 7Y —R T
(A) L= = 5.90 59 m




Za PR B L = Py =
0.+ T
£
/o
/,. ’2
5 TR
< N
= \
A
500 | 550 | 500
1550
RIEYD A= 1.7 m
HELD A= 1.1 ot
10-1.8  #%
V= 1.7 X5.90 = 10.0 10 m
10-2.# R LD
Ny B
(WL 1) V= 1.1 X5.90 = 6.5 6 m
10-3. 578 AL
M+ TIoCE B V=100 - 6.5 X1/0.9 = 2.8 3 m




bbb gbod
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40000000 O 1.0
OO 00 0 0 35cm 0?2 14.7
JHHoHE 18-8-2588 0@ 2.7
JHHoHE 18-8-2588 0@ 2.2
O O 0 RC-40 O3 5.3
OO0 00O VP@ 50 O 3.0
OO0 00O 300x 300x 30 0?2 0.5
O O 0 |0D00000,t=10mm | 0?2 2.1
gooooooon O O 5.9
gooooooon O O 5.9
O 0 O 100
O O 0 DOOOO O3 60




£ PR &t = =X Py =
LET ST 1.040
IR A=
o
(FEA35em) | 121 /9% (0.335+4.661) X 5.90 14.738
> = 14.738 147 m®
2 A7) — ]
V= 14.738  X0.180m’/m* 2.653 2.7 m°
3.EAa I —h
(18-8-25BB) V= 14.738X0.15 = 2211 2.2 m’
4.5 A K
(RC-40) V1= 1/2X 1.796 X 5.90 = 5.298
Y= 5.298 5.3 m°
5. KA
(VP ¢ 50) N= 14738 +3.0m%/ 1 = 4.913 5 (T
L= 5% AT < 0.59 = 2.950 3.0 m
6.9 HHBA k4
(300X300X30) | 1 5050 30 x 5 = 0.450 05 m’
T.H O H A
(=F A& Ah,t=10mm) A= 4.169 X 0.50 2.085 2.1 m°
8. K= 7Y —h T
(A) L= 5.90 59 m
9. K= ) —1 T
(A) L 5.90 59 m




44 PR B =1 2y PG =
0.+ T
N
LN AR
/‘j /’ "%53:”
3 /S
[=<] AN ‘ ~ /
l I
500 | 550 | 500
1550
KD A= 1.7 o
HELD A= 1.1 m
10-1.0K 4
V= 1.7 X5.90 10.0 10 m
10-2.HELD
ooy
(it A 1) V= 1.1 X5.90 6.5 6 m
10-3. 7% L
ETioCEhE | v=100 - 65 X1/0.9 2.8 3 m




2B

&t =1 = PG =
K= 7V —kTA BN 10m349
L= 7U—hk
(18-8-25BB) V= 1/2%(0.75+0.30) X 0.23 X 10.0 1.208 1.2 m
2.0 P
A= 0.23%10.0 2.300 2.3 m°
3.H A
(EZAZAREL0Mm ) 9% (0.75+0.30) X 0.23 0.121

0.1 m°




2B

&t = S
Hffka 7 —RTA BT 10m4Y
1.ar27U—hk
(18-8-40BB) V= {1/2 % (0.10+0.55) X 0.22+0.55 X 0.10} X 10.0
= 1.265 1.3 m
oF P
A= (0.32+0.10) X 10.0 = 4.200 42 m
3.H i A4
(EZAZAREI0mMM 5\ /9 5% (0.10+0.55) X 0.22+0.55 X 0.10 0.127 0.1 m’
4. a7y —k
(C-170) V= 0.75%0.10 X 10.0 0.750 08 m?
5.[7] FA R
A= 0.10X2X10.0 2.000 2.0 m’
6. e m ¥ IE
V= 0.75%10.0 7.5 8 m°
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o000 oooo Il 000 O OoOoo |(oOof oooo o000

20000 0 1.0
OO00G0oao 24-8-25BB i 131.4
O O 02 197.7
O O SD345,D13 O 2.83
O O SD345,D1600 D25 O 5.25

SD345,D2901 D32 O 3.10

Hoo S 0oo 18-5-40BB 03l 8.5
O O 0O O 0?2 4.7
O 0 O RC-40, t=20cm 0?2 88.5
O a O oooo oo2
O O O oo?
000000 O 1.0
000000 O 1.0
O O O3l 2390
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4 i) g B 2V %K &=
25 U T 1.00%4Y
1. 7Y—h N7 ATERR
(24-8-25BB) | /1= 430 % 18.64 X 0.60 = 48.091
N 7 AfHBE
V2= 0.50 X 18.64 X 1.80 X 2 —  33.55
R I AN T
V3= 1/2X0.30 X 0.30 X 18.64 X 2 = 1.678
N7 AR
Vi= 4.30 X 18.64 X 0.60 —  48.091
S= 131412 1314 m
2.8 A7 ATERR
Al= 18.64X0.60 X 2 = 22.368
R 7 ZHEE
A2= 18.64X (1.80+1.50) X 2 = 123.024
R I AT
A3= 0.30X 1.4142(512) X 18.64 X 2 —  15.816
N AR
Ad= 18.64%0.60 X 2 = 22.368
R 2B
AB= {4.30X3.00~(3.30 X 1.80-1/2 X 0.30 X 0.30 X 2)} X 2
14.100
S=  197.676 1977 m
3.8k W
(SD345,D13) |y = 28295 283 t
4.8
(SD345,D16~D25)| | 1_ D19 _ 1667.3
Wo= D22 = 35807
T= 52480 5.5 t




Z i B eV ¥ &
5.8k Hi
(SD345,D29~D32)| ;. D29 3099.6 3.10  t
6.2 L= 7)—h
(I8-5740BB) | v 4 50%18.840.10 8.478 85 m’
73U
A= (4.50+18.84) X 0.10X 2 4.668 47 m’
8.2k 1 #f
(RC=40,t=20cm) | \_ 4 70 18.84 88.548 88.5 m’
9.2 % T
FLY =]
B | Him’
10.3¢ f& T
Vi=
Z%m’
LIRS TA
N= 1.0 1.0 X
12. 57K 1B
N= 1.0 1.0 =

13.+ T




va PR B = = by =
o L= T
Oo0gd AO012.80
Ooo00 AO 6.80
13-1. 8 &
V= 12.8 X 18.64 = 938.6 239 m
13-2. MR LC
Ny
(bt 1 1) V= 6.8% 18.64 = 126.8 127 m
13-3.7% -
MAETICCERE | V= 238.6-126.8%1/0.9 = 97.7 98 m
14. FL i % A= JEEM R ERT R LD 88.5 89 m




ooogobooooggo

gooo oooo Il OO0 O 000 |0O0| DOooo oooo
gooooo O 1.0
O0O00oao 18-8-25BB O 3.5
0?2 19.4
SD345,D13 kg 98.1
SD345,D19 kg 238.9
0o S 0o 18-5-40BB 03l 1.0
o O 02 1.3
0 RC-40,t=20cm 0?2 10.8
0é 200]
0 Cc ooo ik 40
o O 02 110




4 i & =1 2V Py =
B K TA 1.02340
L. 27—k TR
(I8-8-25BB) | /1= 1 /9% (0.90+1.80) X 3.00 X 0.20 X 2 — 1.620
JEC ARG
V2= 1/2%(2.70+3.70) X 3.00 X 0.20 — 1.920
PRy
V3= (1/4X 1 X0.414*+0.30<0.20) X 0.20 = -0.039
Y= 3.501 3.5 m’
L B TRIEEPN D
Al= 1/2%(0.90+1.80) X 3.00 X 2 - 8.100
{RIEE S
A2= 1/2%(1.10+2.00) X 3.00 X 2 - 9.300
s
A3= (0.90 X 2+2.70) X 0.20 — 0.900
s
Ad= (1.80 X 2+3.70) X 0.20 — 1.460
R4y
A5= (1/4X 7 X 0.414240.30 X 0.20) X 2 - -0.389
= 19.371 19.4 m®
3.8
(SD345,D13) W= — 98.1 98.1 kg
4.8% W
(SD345,D19) W= - 938.9 238.9 kg
5.8 a7 —h
(18-5-40BB) V= 1/2%(2.90+3.90) X 3.00 X 0.10 - 1.020 1.0 m




4 R 7 =1 2V Py
6. [A] L7
A= (2.90+3.90+3.00 X 2) X 0.10 = 1.280 1.3
7.5 g A
(RC=40,t=20cm) | A~ 1 /95(3.10+4.10) X 3.00 —  10.800 10.8
8.+ T
\\OC N —
2
®
\\Egég o
R &
\g ///
méﬁ I //
o . B pessy
OO0O0O00OAO6.60
O0O0O0O0AO4.10
8-1.JK  #E
V= 6.6 X3.00 = 19.8 20
8-2. ML C
=y
(it JH ) V= 4.1 % 3.00 = 4.1 4
8-3. 5 AL
YA TIoCERE | v=19.8-4.1X1/0.9 = 15.2 15
9. FL M IE A= JEEEM B R R LY 10.8 11




ooogobooooggo

oooo oooo Il OO0 O 000 |0O0| DOooo oooo
gooooo O 1.0
Oo0O00o0o0ao 18-8-25BB O 3.5
0?2 19.8
SD345,D13 kg 96.9
SD345,D19 kg 213.8
0o S 0o 18-5-40BB 03l 1.0
o O 02 1.3
O RC-40,t=20cm 02 10.8
0é 200]
O c ooo ik 40
o O 02 110




4 PR & =1 2V Py =
B /K% 1B 1.0240
L. 7U—k TR
(I8-8-25BB) | /1= 1 /9% (0.90+1.80) X 3.00 X 0.20 X 2 — 1.620
JEC ARG
V2= 1/2X(2.70+3.70) X 3.00 X 0.20 — 1.920
Y= 3.540 3.5 m’
i B TRIBEN D
Al= 1/2%(0.90+1.80) X 3.00 X 2 - 8.100
JRIEE S
A2= 1/2%(1.10+2.00) X 3.00 X 2 - 9.300
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(10m¥%49)
2. FEAK($300)  L=2000, W=>509kg/{#
MK E($ 3000 4 NO.0-5.0 ~ NO.0-0.5 10.0 m 1.1 m? L1 m® AR
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#—=FV—=MGr-C-4E) /2 3m X1 3.0 m n
& &t 11.0 m
&AM B LR
a7 —h
1.PU-450 42.0 m 0.9 m’ 3.8 m’
2.1 TR ($ 300) 10.0 m 1.1 m? 1.1 m®
3ARHLEEER T 1 2 (BHE) 10.0 m 05 m® 05 m°
& F 5.4 m®
oL 7Y —h
717\\“‘}“‘1/“/1/%% 6.0 ﬂ_ﬁ] 0.1 n’l3 0.1 m3
a5 0.1 m®
H—FL—1 (Gr-C—4E) 11.0 m 16.0 kg 176 kg 0.2t
S Uk T
SHAERR BT T A7 7V, t=bcm
NO.0-5.0 ~ — 19.5 m  AHRHLE
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1,947 + 1,965 = A= 3912 m 3,912
e Bl
1,632 + 59 = V= 1691 nm 1,691
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73 — 186 = L= 54 m 54
IRESHEKERAT | QW - 17" ¢ 1500 X 338
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